AB IR T Ak K% B R b 2 SR SR o Bk

2024-2025 FFEHE—FHIRAPERE

PI=FH BFEFEPIE

GBA: R BE FTHA: R K¥% 20244£10831H0
(F X0t 120 5°4F, #2100 9°)

/1343 4 x5

. FiXB3E 8 W, 327 HE

2. EIRBNEEF LRSS, dENET

3. REER—BUERNBEEEEFL, ERXE LEETR
4. EEB+L, ARAFEEFEEE

B EH W d

—., EHE XEts ME, FHE245, K164, ERDBE AT EN

1, RE—MRFEERES)
1. TEME/S, BRANKFEREXRFONHFEALOR ()

0@

2. —TCZRHRE 2—16x=0 HIRR (

A. x=0 B. xi=4, x=—4, C. x=16 D. xi=0, x=16
3. MR = (x-1)+2 HERATER 2 MELKE, BRAKTH 3 Mok
BJE, REIMMYRNOBTRA ( )

A. y= (x—4)? B. y= (x+2)2 C. y= (x+2)?+4 Dy= (x-2)2+4
4ARAERARE 2-dx+1=0, WHBAEHA ( )

A. x-2)0=S5 B. (x-2)*=3 C.(x-1)’=3 D. (x-4)*=l

s.in@E, FEEHFHR¥S, ABCDE,F C H ILJRMERE X,
AABCE5 ADEFRFRRBF LR, MAKMIRPLR( )
ARG B.AH C.Al D.&J




LTI AL 4 W R

6. MM, IEHF ABCD FINAREXTF RO, EEHFF ABCO

5IER ¥ ABCD Riih A%, HIEEA AB'COBRONH, 4

BR4=2, WRHIBFHANESRERESHERA
( )

A1 B. V2 C:2- D. TERE

7. ER—SFER, —XEMy=> LHRRE—RKERY=o+g ERTT
iR ( )
+

\/
A. 4 ) B. >0>Y’X

N / y
/OKX % P /ﬂ:<:9x
SHEEMERASENESURTEZ—, B3 REREMN
CITRRRT LR ER MR — 84, B3 RERENE of—
HRE y CAAim) SKFER » (RE:m) ERMEH 2
W% Ry=ax?+bx+c(a20) INEHE R T HiE 5 RABRE/F K
Syti=@NIR, BIE ERARBBNABIE, RN %

&S RBHE T RMMG AN, KFERN( ) 0" |20 40 «/m
A.l10m B.15m C.20m D.22.5m

AY

—




AERCTNECSE P IR 4 B SRE N R

= REE (K e HE, whE228, FK164)

o, ERMy=—, HER:HRUENA

10. FER 2(x—3)<5x+6 HIMRRA .
11. PR y=x—4x—5 5 x IR RLHIFE .
12. Zm, n B—R_KHB 32— kct2=0 MIFMR, W mn= .

13.0@, WAABC %K A Wit ¢ itHa (0°<a<90°) 8B)AADE, X B3R

A DRIF¥%#Ed BC £, W LADE= . (REuIRXTFRR)
E .A 0..
(o / B o.o.o.o.o.o..
13 W %14 ME

140A=M A%, ALATHRAEHRS]T, XFBE—THINTR, BTN
IBnATHn N R, BARTAATIE2100 R, KRS
1S, — KB yi=ketn SZKEW yr=ax—+bxtc HERBIZETA(—1,5) , B
9 2) WA, MRTFFER botnZax+ bt BN
16. MR _REM y =ax’ + bx+c FIERB— M EMLAR A(-3,0), M54
Hx=-1, HHONMER: Db >dac: @2a+b=0; Da-b+c=

K ERiR . () v
Ay E
AC1.9) \ 4202 |
ol % 5 5> X

-



AT ITNAEM R P 8w RANTRY

=\ BEE (KXt 1] A~MVE, 35684 MENENTERY, FHIERR
%2 )]

-1
17.4H5: \/5—(%) +12+(-2024)° 18BN E: 2—dax—5=0

o pEHE, X 2

a-—1 3a

2
.. 20. L7 ("*2—1)-“ =l

21. MBI 2+3x—4=0 H—MR, RRER (m+1) 2+m (m+4) B9

22. A, £ETFEEALKEER xOy 3, AO4B B o
WA AR B A0 0, 00, 45, 00, B (4, : P
~3), HEAOAB HLAOMBS RSO RBIAOAD i ooviorioniof il
& 4 BRENHEAN 4 IR I NI A
(1) EHEEHENERAOAB", oG ‘
@) & 4 tiskivR = ST Sl S 3¢

5.5 U = ST R S
(3) ABOB'HITLM R _ T S N RS




b 50T Ml o 3 B R P 5 480 SR B A R B

23. BT xN—R-KRFB+Q-m)x+1-m=0 .

(1) RiE: FEEBFHADLHR;
(2) HEm<0, BUHFEHRENLHERNZR 3, RmiE.

24, BATHE NAPRRTR B ARIMYIRE, 21340155 L B BT 2 7 B i
RESTRNAER, FHRERN “RR", ROERN6In, RERldm (ROE
RERBEENANER), BLEALRRNBORT, 0RTHAHEE ML

quup%thm»,maﬁﬁﬁmmmmﬁmﬁ

Cz y, =—-é—x2 +1(-3<x<3).

(1) KHBRODHIK:

(2) MEYHRERKMLFERIdm, RENKXEHNER:

(3) MR —NEEAERNIdm, ®WEAN32dm PEASHSMBADERAER
Y, RBRTESSL? FUARA.

eel il



JE R T AL RS IR b 5 80 S B A = Bk

25 FEFHEE AR ROyF, Mxiy 1)y Nz y)RWMWER y=ax?+bx+c (a>0).L
FEEFAR, BRI Syx=t.

(1) EXFx=l_x=2_Fy =y, ReAUE:

(2) FEXFo<x<l, I<x<2, HAy<y2,» R+ HEEEH.

26. WiAABCDRIEF, WRBRCDRAC HATEHIEF 20 (45° <a<90® ),
BEILRERCE, %#DE, i ABIEBFLDEXDETF, % H#BE.

(1) wEELEL

(2) R LFBERYE¥:

(3) ERAF, REXRTRBRAFSDENPRK R, HiEH.

A D A D

2 #RE



AL T Ml K 3 TR o 5 40 SR AL o R

27. 3T WERMLZAIF O XA, ERENBNAKFHESELENEREENKE,
HARMUKFERENERNMEERENER N x, y MBS MERRFEEHL
WR, ZPFDMEETRAVCEMNESRINT R, ¥ BD BiEH A x, CD
By, WPLRITIRA C.

(1) (1) 3R

® | @ ® @ ®

x| 0 2 3 4 5 6

y| O ] 2.25 4 6.25 9

(I #R: FERBTE x, ) HWEE2P;
(D ZELL: FAFHKBERER 28 ERRERE, Ry 5 x BXRAER;

_—N W AU O 00 VO

v

3 4 5

Q
N
L8

Ui
o

78 9 @

FE2

(2) @ 3 fiz, EFEERALIERD, WMWK y=a (x -h) 2+k YTRAN C
ZHENBNARAKEANBEEERMNEBR K FEE N 4B, BEREANCD, B
AB=m, CD=n, AT RHZMMRKIFF OKRAD, EZEFENESNATOTRFT
R, BEREP—MAR, HrBdE:

HR—: B_KEMv=a (x-h) *+k F%, FHEMKCERKOES, KN
MR RA y =ax®.



Jb Tk RS 6 R = ¥ 8w IE M P R Y

@ AR BRIIRS
@ ¥R BRI y=ax? ¥, #18a= : (AE m, n IRTRR)
ARZ: & CREHTFHN b b.
@ LR A B RN

@ WA BLFEKRAy=a (x-h) *+kFRBa=______ : (A&m nth
XFRR)

GO IR @4, CRTFEEALIFER Oy FH A4, BBR, AB=4, H 4B
/x ¥, —REECr: =2 (x+h) 2k M Ca: yp=a (x+h) 2+b HLRiL 4, B

A BCOMCGAMAP, QLR ABRIERZ AN 10 & AB/x $hH AB
=4, ER a B‘Jﬁ-

S
.2
8Y




